=1 2EPRAE

Iudv= uv—jvdu

S hE




) 35 jxe"dx=?

R

BRI

¥
A

(wv) =dv+av,

J‘uv'dx= ”V—jﬂ'idx, Iudv= uv—jvdu.

47 EBFR 47 (integration by parts) 223\,

1P~ R D

EAR B SR V.

2

E\‘ﬁﬁ?«“ %é&a

4

uy = (uv)' —u'v,

4 O



i1 SRS I xcos xdx.

g (—) “Qwu=cosux, xdx=%d(xl)=dv

X X
3

Ixcosxdx = 7cosx+

sin xdx

R, wuV IEFEAT, B
R (=) S u=x, cosxdxr=

Ixcosxdx = jxdsinx = xsi

B XEHEAT .
dsinx=d»

nx—jsinxdx

= xsinx+cosx+ C.



B2 ks [ Pedr.

i ”=x29

e'dx=de =dy,

szexdx =xe - 2_[ xe'dx

l (AU

=x'e" - 2xe’ —e°)+ C.

B R R BUR R B BUR L
Bl R U 78 2R B 3

BN u, 1§ F

LR — IR(BE R EUE L

I ERME) u=x, ede=dv

N ) AR
e, BLERE WA

=R



B3 KRS I xarctan xdx.
X
# 4 u=arctanx, xdx=d(7j=dv

j xarctan xdx = % arctan .x— J' %d(arctan X)
X r 1
—Tarctanx—j > -1+x2dx
X 1 1
—Tarctanx—j?(l— 1+x2)dx
X 1

= 3 arctan.x— > (x—arctanx)+ C.



Bla KA [ £ nadr.

4
i “=1nx, fdx=d(x7)=dv,

J'x’ln.xdx =% 4lnx—%jx’dx

ed 4ln.xc'—l.xc"'+6’.
4 16

BEE RN R HUR T R BRI X L PR B B R
BB e = M R BUISRER, BLE RN E R
BER = A REA .



Bl5 R4S j sin(in x)d.x.
fi J'sin(ln x)dx = xsin(lnx)-— j xd[sin(In x)]

= xsin(In x) — J' xcos(In x)- i dx
= xsin(Iln x) — xcos(Iln x) + j xd[cos(In )]
= sin(in x) - cos(In )] - [ sin(In x)dr

. [sin(n.)dx = %‘ [sin(In x) — cos(In )] + C.

q 4 G



flo K4 [ sinnlr.

# | [esinxdr = [sinxd(e")
= ¢*sinx— [ £*d(sin.v)
= £*sinx— [ £ cos xir= ¢*sin x— [ cos.rd( ")
= ¢*sinx— (" cos x— [ £*dcos.)

= £*(sin x— cos x) — J'exsinxdx ERES I

X

j e’ sin xdx= ez (sinx—cos.x)+ C.

4 4 O ]



xarctan x

17 ;kix':\'fj\j \/+—xz

(J1+x2) = -fx’

I dadretan xdx — j‘ arctan xd(m )

=+/1+ x” arctan x—j\/1+ x’d(arctan x)
1
= - 1+x2-1+x2dx




=+/1+ X% arctan x —

j\/ll—xzdx 4 x=tant
+

1 1
j‘mdx =J‘\/l+tanzz'secz a2 jsectdt

=In(secz+tans)+ C =In(x+ 1+ xX)+C

. j- xarctan .x

dx
V1+ 22

=J1+x2arctanx—ln(x+J1+ x)+C.




il 8 .40 F— T ERESZ  , K

# [or(9dx = [ ] ()= 50 - [ Sax,
o ([ ax) = e [ fr=e 4
PR ERS, 18 f()=-2xe ",

[ (ode= ()~ [ Sl)dx

— _zxze—xz —e_xz + Co



